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CLASS-VIII

MATHEMATICS
Summative Assessment-I

Time Allowed : 3 Hrs. Maximum Marks : 90

General Instructions:

1.  The question paper consists of four sections: A, B, C and D.
A consists of 8 questions of 1 mark each; Section-B consists of 6 questions of 2 marks
each; Section-C consists of 10 questions of 3 marks each and Section-D consists of 10
questions of 4 marks each. Question No. 1 to 8 are Multiple Choice Questions where you
are to select only one correct option out of four given options.

2.  All questions are compulsory.

3. In questions on construction, the drawing should be neat and exactly as per the given
measurements. Use ruler and compass only.

4.  There is no overall choice. However internal choices have been given in some questions.
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Section-A (@vs-37)
Question number 1 to 8 carry 1 mark each.
WA e | ¥ 8§ dh YAw W | 3F H T
1. If the unit digit of a perfect square is 1 then the unit digit of its square root is :
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If a shop-keeper buys a toy for ¥ 250 and sells it for ¥ 275 then what will be his

gain percentage.

(1)

Ift TH IEAGR TH el 250 % 1 GlEd T SR 275 % OH A9l € Al SUH oy

yfaea grm—
(a) 10% (b)
() 25% (d)

The correct formula is
T EHe e

M.P. x (100 — Discount%)
100

S.P.=

(a)

M.P. x (100 + Discount%)
100

S.P.=

(b)

MP. - S.P. x 100
(c) "7 (100 - Discount%)

3 S.P. x (100 — Discount%)
B 100

M.P.

(d)

Factorisation of x? — 1 is :
x2 -1 % THEE B

(@ @+1x+1

) @-1(x+1)

(b)
(d)

14%
12Yv2%

(1)

(x-1 -1

-1 E2+1) (1)

If in the given figure [ |l m, £1 = 3x + 5 and £2 = 2x — 5 then the value of x is
e & T ampfa H [llm, L1 =3x+5 I £L2=2—-5% A F x qA B
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10.

11.

The co-ordinates of a point on y-axis at a distance 3 units from x-axis is :

y-318 W fom wwk fog fomet x-o8 4 g0 3 THE ¥, & fewed g

(@) (3,0) (b) (0, 3)

© (3,3) (d) (0, 0) (1)

If a point (a, b) lies on x-axis then value of b is :

afs wh 45 (a, b) x-3180 W fe@ © @ b H WA B

(a) 1 (b) 0

) -1 d) 2 (1)

When a die is thrown, the probability of getting of an even prime number is :

S UF Y FeH] WA B, Al WH O AYRT & o W 1 Wifdedl erfi—
(a) % (b)y 1/3
(c) 1/6 (d) 2/3 (1)

Section-B (@vs-9)
Question numbers 9 to 14 carry 2 marks each.

T GE 9 § 14 9% TSI Y F 2 IF o

Simplify : (@ HIfST) : /1000 x 250 (2)

OR (3194T1)
Find the square root of 1296 by prime factorisation method.
AT PHEed fafs § 1296 w1 T §d - it

3
Find the value of : (M F@ Hife@)— (13 +923 4 33)5 (2)

Find the smallest number which when multiplied with 6400 will make the product
a perfect cube. (2)

I8 BRI ¥ DRI HEA T ST TEH 6400 F TN FH W TH YO FH W B



12.  In the given figure [ || m and ¢ is transversal line. If £1 = 55°. Find «. (2)
H M pld § [ llme SR ¢ TH fEE W@ g1 AR L1 =55° @ x % WA F@ it

A
A

A
V\&
\

13.  Write the coordinates of the points P and L of the following figure. Also write
length of PL. (2)

7= orpfa & fag P ok L & fodwrsw fafew @R PL &1 #M 3@ ifsw)
A

N

A__,,ﬁEEEEEEﬁ

14. I have a well shuffled deck of 52 playing cards. Write down the probability of

getting the following when a card is drawn at random.

(a) a queen (b) an ace of black colour (2)
W UE IS W el g 52 T I Al 1 TMEE ¥ W& SEH ¥ UH T AGESA
e S € @ Wifashar W ifse fm feen gem wen 2— (a) T o (b) TH W
EUC I I-C =T



15.

16.

17.

18.

19.

Section-C (@Wvs-1)
Question numbers 15 to 24 carry 3 marks each.
WA W& 15 W 24 qF Yk WA 3 Ik H T

Find the smallest number of 6 digit which is a perfect square, also find the square

root of the number so obtained. (3)
B: FHRI FH BRI W B FOA F@ & S fF TE i @ N o3W wEen w1 T
ft J@ Hifeg)

40401

The area of a square field is 900 m?. Find the length of side of this square field.
40401

@aﬁaﬂéﬁwgoom%waﬁﬁwmmmﬁﬁm (3)

0.027 0.09

N3 - —

Evaluate (W@ &%) \/0.008 \/0.04 (3)

—10648
; 3

Find the value of ,/ 195 3)

4/~ 10648

qH Jd Hifsa— (3)

125

Disha cycles to her school at an average speed of 12 km/hr. It takes her 20 minutes
to reach the school. If she wants to reach the school in 15 minutes what should

be her average speed ? (3)

feon o wpa ® wRfea W 12 fRAL 9fa S w1 ofma wfa @ Wi ®1 sEeh faig
SgF 20 foe 1 999 ol €1 TR 9% o § 15 fie § wEe AR al SHwt o
R T

OR (31941)
If 56 men can do a piece of work in 42 days. How many men will do it in 14 days ?

56 Afdd T wM 42 7 § X Ud B fFaw =afw @ owm o 14 T § w8

5



20.

21.

22.

Find the rate of discount being given on a ceiling fan whose selling price is ¥ 1175

after allowing a discount of ¥ 75 on the marked price. 3)

3 VA F TE W T2 R TG HIGC HE iR gog W 75 % F W @ W fawa
q9 1175 & @l

Factorise (H@E &) : (2a + 3b)% — 4c? (3)

In the given figure ZA = 70° and CE Il AB. If ZECD = 50°, then find £1, £2 and
3. 3)
& T amHfd § LA = 70° @R CE Il AB %1 Rt ZECD = 50° & @ 1, £2 R /3

H UMY A HIfC

B C D

OR (31941)
In the given figure if PB and AD are both perpendicular to BC, and ZPBA = 40°
and ZDAC = 30°, find the angles of A ABC.

& T amepfa W Al PB @ AD ¥ BC W @ & @ ZPBA = 40° 3R
Z/DAC = 30° € @ AABC & iU 3@ shifsu)

AP A
—
B D C



23.

24.

The quantity of diesel filled in a car and the cost of diesel are given in following

table : 3)
Litres of diesel filled 5 8 10 15
Cost of diesel (in %) 250 400 500 750

Draw a graph to show this information. From the graph, find how many litres of

diesel can be purchased for ¥ 650 ?
FX H 90 T I K OAET SR SEET god A9 grot § femm mn g

W T Eea (T ) 5 8 10 15

g & g (T H) 250 400 500 750

TR fGu MU Awel & fau ovem@ SRl e gW WM &ite fF % 650 W feRa
9 TlE S HEA §2

Construct a frequency distribution table for the following weights (in gm) of 35
mangoes using the equal class intervals like 40-45, 45-50, 50-55 etc. 3)

30, 40, 45, 32, 43, 50, 55, 62, 70, 70, 61, 62, 53, 52, 50, 42, 35, 37, 53, 55, 65, 70,
73, 74, 45, 46, 58, 59, 60, 62, 74, 34, 35, 70, 68.

Which class interval has the highest frequency ?
o R et § e % WR (I W) #w osifeRd fFE oM ¥ o sioa Sm R
40-45, 45-50, 50-55 TAME &1 TAM FHeh TERAT GROT FAET
30, 40, 45, 32, 43, 50, 55, 62, 70, 70, 61, 62, 53, 52, 50, 42, 35, 37, 53, 55, 65, 70,
73, 74, 45, 46, 58, 59, 60, 62, 74, 34, 35, 70, 68
feg o ofqua 1 ICERd geg eIfus 87
OR (31y4d1)
When a die is thrown, find the probability of the event, of getting :

(a) a multiple of 2 (b) a number more than or equal to 4

(c) a number less than 4 (3)
afe WH qrEr BT S odl Wifaehdl W shitsw fR—
(a) 2% TN (b) 4 % TER A T FF

() 49 3 3F B



25.

26.

27.

Section-D (@vs-T)

Question numbers 25 to 34 carry 4 marks each.
WA SN 25 ¥ 34 q% TOE W 4 3k H B
Students of class VIII visited a hospital and saw a woman suffering from cancer.
Because of lack of money she was not able to get proper treatment from the
hospital. The students discussed the problem with the parents and they have
decided to collect money for her treatment. The total amount collected was

% 522729. If the number of students is as much as the equal amount collected from

each student then

(a) Find the amount collected from each student

(b)  What is the value exhibited by this act of students ? 4)
Fel Al & BH TH A T R 98l W 9 difed TH SIRa & <@ uH
FH oF FRU, IHH FEAE § 3fad AN T8 B W@ oem BE 7 3@ 9HEn W e
oAl o WY faeR R SR I= SU @S o fau T shedl w1 e fwA
SH H T FA TR T 522729 ol TR BE HI WS W BH W SH HI T AR F
TR (FAE) B A

(a) T VA G SH H T AR F@ HISC

(b) BE # T T fFa geal w1 g @2

A garrison of 240 men has provision for food, for 30 days. At the end of 5 days
10 more men joined them. How many days can they sustain on the remaining
provision ? (4)

240 =Afe@i &1 g1 G % Tw 30 A % fow em @Rt #1005 9 % ef@ H, 10
of R wiwfed @ S| €1 W= g8 9 9 9 fead oA e W wed €7

A train 360 m long is running at a speed of 45 km/hr. What time will it take to
cross a 140 m long bridge ?

360 WX ol TH I@MEl 45 Thadie wfd w @ ufd 9 We W' TH 140 "X
@9 A & IR K H I8 fRaw A @i



28.

29.

30.

How much a shopkeeper must mark his goods so that after allowing a
discount of 25% on the marked price, he gains 20%, if the cost price of goods is
< 20,000. (4)

afs fFdt THA # T T 20,000 FTU T A TH THESR AW THA R fHa g
sifhd X fF eifrd gea W 25% & B2 = W 39 20% ¥ B

OR (314d1)

A tricycle is sold at gain of 16%. Had it been sold for ¥ 100 more, the gain would
have been 20%. Find the C.P. of the tricycle. (4)

T dF ufedl w1 WEfed 16% v W a9t Wl oAk 3™ % 100 A gea | o=
S @ 20% nH B@H WEfRA R A Hed T it

Vishesh goes to a departmental store and purchases the following articles :

(i)  biscuits and bakery products costing ¥ 50, VAT @ 5%.

(i1)) medicines costing ¥ 90, VAT @ 10% and

(iii)) clothes costing ¥ 400, VAT @ 1% (4)
Calculate the total amount to be paid.

favm wh fafay fara o W o ® SR frefafad o @dea @8-
(i) 50 ¥UC o foepe 3R awd ®1 GEE, 8 W 92 # W 5% T
(i) 90 TUU H TARA, H W T F W 10% 7 R

(iii) 400 ¥9C & F9e 59 W 92 & W 1% I

foa =+ Fa o @ wfSw

If 7x — 4y = 9 and xy = 3 then find the value of (7x + 4y)>. 4)
afg 7x—4y=93$|'{xy=3 oAl (7x + 4y)? &1 9A I Hifw)

OR (31441)

. . 9 1,9 1 o 2ab 2bc 2ca
HifTe) — + =b“ + —c” - - +
Factorise (@S )— a 9 25 c 3 15 5



31.

32.

33.

34.

Simplify (T@ FIT) : (@ — b2) (a® + b?) — (a® - b2)? (4)

Draw a line segment AB of length 6 cm and find a point P on it such that
AP : PB =2 : 3. 4)

TH @EE AB s W@ 6 9. § difau ik 3@ W ww fag P 9@ sifsw afe
AP :PB =2:3 3l

The pulse rate (per minute) of 30 persons was recorded as :

61 76 72 73 71 66 78 73 68 81 78 63 72 75
80 68 75 62 71 81 73 60 79 72 73 74 71 64
76 71

Construct a frequency table using class intervals 60-65, 65-70 etc. Also draw a

histogram for the data.

30 =afwml ®1 AE W g ufa fe w1 sifwd e T S oW weR -

61 76 72 73 71 66 78 73 68 81 78 63 72 75
80 68 75 62 71 81 73 60 79 T2 73 T4 T1 64
76 71

T AA 60—65, 65—70 TANE FT AN FHih IERAT RO dAREUI 31 AHSI ¥ TH
s fo off SRy

The following pie chart gives the marks scored in an examination by a student in
various subjects. If the total marks obtained by the student were 540, answer the

following questions :
(i) How many marks did the student score in each subject ?

(i1)) Find out the difference between maximum marks and minimum marks

obtained by the student.

10



9 ga o9 ¥ & ®9 g0 & wWen ¥ fafy= fow d wa few Moo s Mm@
gl Ak BW g0 W fHU e w540 ¥ a frefatad W oh S S

(i) 39 3@ A |l fow # fem-fea s wa fwa?

(i) BF O Y@ fAu T eifrmad R AW Sl W FR F@ Hifew)
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